(9] - )

53

20154 714

20159 HF

AEIRS, Al e B AHA) | IAHA+B)

1,703,789 23,410,081 25,113,870

1,703,789 23,410,081 25,113,870

1,659,809 21,580,087 23,239,896

8544 940,037 652,772 1,592,809
30,000 16,100 46,100

30,000 4,570 34,570

AR A 329 30,000 0 30,000
LA AR 30,000 30,000

(%) 310-01 |30,0009 X 600A] = 18,000 18,000

o3 1) 210-01 |20,0009 X 20% x 53] = 2,000 2,000
Y= 620-03 |10,000,0009= 10,000 10,000
1,268 108,130 109,398

24 1,268 87,455 88,723
SAQAE LY 1,268 87,455 88,723

E2 g a2 dAE L9 1,268 87,455 88,723
ARRIZIH] 1,268 32,960 34,228

] B 110-02 127,726,0009 x 1% = 1,016 26,710 27,726

A x}2=c} 110-02 |75,9609 %159 = 43 1,097 1,140
R 32004 |28,872,0009x1/12¥= 89 2,317 2,406
Zuld 320—-04 (28,872,000 X4.5%= 48 1,251 1,299
A7FR 3 320-04 |28,872,0009 X 2.9%= 44 833 877
ol A7) Q ok R 3] 320-04 |877,0009 X 6.55%= 3 55 58
RURC R 320-04 [28,872,0009 x1.5%= 15 418 433

A B3 320-04 |28,872,0009¢ X 1%= 10 279 289

3 391,109 203,720 594,829
o] aFEFAL 391,109 203,720 594,829
SR X DA 300,000 0 300,000
v}yl B oj o] < 300,000 300,000

) ez IRey 320-01 |36,250,0009) x 8¢ = 290,000 290,000
2) WAFAS 6,080 6,080
A9 E 210-01 |20,0009 X 45% x 43]= 3,600 3,600
AT (LR 210-06 |160,0009 x 21 x 43| = 1,280 1,280
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7187 AR E 1S4 9% (cFe] : 19
Bopnzm R 9] A Aol el B P 12579 | 20159 714 | 20159 HF
Abel A} A B - = (B) o 2k (A) o AH(A+B)
th) =kl at= 210-07 600,000 x 28] = 1,200 1,200
3) 4= 3] 210-01 |20,0009 x 808+ x 23] = 3,200 3,200
4) AATF 210-06 |80,0009 x 9 = 720 720
2. GOl APAN L LIX Y 91,109 203,720 294,829
7} oA H A AL 91,109 203,720 294,829
1) Q174] 11,109 158,270 169,379
71 BZWAF 11,109 69,371 80,480
(1) A% 110-03 |30,000,0009 x 21 = 6,000 54,000 60,000
(2) Axpor 110-03 |30,000,000¢1 X 921/365 x 278 = 148 1,332 1,480
(3) ®7= 320-05 |31,300,0009 x1/12x 2% = 500 4,717 5,217
(4) vl 320-05 |31,300,0009 x 27 X 4.5%= 390 2,547 2,937
(5) AR 320-05 131,300,000 x 2% X 2.995%= 180 1,667 1,847
(6) Q&7 QoFR ) 320-05 |1,000,0009 X 6.55% x 27 = 22 109 131
(7) 1$R3 320-05 |31,300,0009 x 2 X 1.5%= 93 849 942
(8) XA B3 320-05 |31,300,000¢ x 27 X 0.86%= 52 487 539
(9) Aol = 110-03 |2,088,460¢ x 1% +1,634,800¢ x 1% = 3,724 3,724
9) 790l 3,000 26,250 29,250
7h xR -] 210-12 |20,0009 x15% x10%]= 3,000 3,000
3) }ekelatm 210-07 |50,000,0009 x 1tj= 50,000 50,000
4) A g0l 210-13 1900,0009 x 109 = 9,000 9,000
5) ZgZALL el An) 620—10 |18,000,000¢ x 11= 18,000 18,000
73t 78B4 312 ¢ 7,660 33,651 41,311
i B R R s =X R PA R 5 960 30,741 31,701
1. S AFEALS-S 960 30,741 31,701
7}, 7} EHA B ALl A H] 960 29,941 30,901
1) 2204 110-02 80,0009 x 12 960 960
AdFAHTHH 152 A 6,700 2,910 9,610
1. 9 E w889 6,700 0 6,700
7F a4 w Al 6,700 6,700
1) AEFYn 210-11 |5,5009 x 25% x 403] = 5,500 5,500
2) o34 L] 21006 |100,00091 x 129 = 1,200 1,200
A& S st 500,000 69,300 569,300
WS - FoldRF TS — AF-TFS5A Y - ASuSHAsSE 2/6




(9] - )

A+ Apeju o g R 13374 120154 714 | 201549 HF

A (B) o AH(A) o4k (A+B)
St A A A A AN 500,000 0 500,000
1. S A SAH#e 500,000 0 500,000
S R e R o 500,000 500,000
1) Az 500,000 500,000
7h A AN 420—02 480,110,000¢] X 3.423%= 16,434 16,434
) AlAdn 420-03 480,110,0009 x 12 = 480,110 480,110
oh) Al R 420—05 480,110,0009 X0.72%= 3,456 3,456
BAIEE 10,000 8,000 18,000
SAFEEFA Y 10,000 8,000 18,000
1. 5EgFsTz 74x9 10,000 0 10,000
VASRY I =R A= DA ) 10,000 10,000
1) 2538w 620—03 2,000,000 X 51.= 10,000 10,000
ASER A Y 373,632 2,152,250 2,625,882
Uk R A 375,520 0 375,520
1 e R 375,520 0 375,520
1. 3338t g 84 31x 4 30,000 0 30,000
7t W esw-g- g2 10,000 10,000
1) 3] 7AH) 310—01 40,000¢ X 250A] 7F= 10,000 10,000
L EQulSwtu oy g 20,000 20,000
1) Z3Am) 310—01 30,000¢] X 480A] 7F= 14,400 14,400
2) TGN 210-01 |40,0009 x 7% % 2038]= 5,600 5,600
2. 2FFA|EY RT3 161,920 0 161,920
7} W& ety 1Y 161,920 161,920
1) 25w 620—03 |7,710,4709 X 21 3= 161,920 161,920
3. 53| E g sty 123,600 0 123,600
7} w5 sl w2 x| ¥ 123,600 123,600
D s 90,600 90,600
7H 9 620—03 5,060,0009 X 101.= 50,600 50,600
h AFY 620—10 10,000,0009 X 41.= 40,000 40,000
2) 15stw 33,000 33,000
7 39 620-03 [11,000,0009 X 1= 11,000 11,000
hH A= 620—-10 |11,000,000¢ x 231= 22,000 22,000

TS - AEFAAY - BAFFuEAd - RS ueY 3/6




RS EEEE CERET)

B pES el o= . 145749 | 20159 714 | 2015W H=F
A A} (B) o 2k (A) 4k (A+B)

4. BETg AL 60,000 0 60,000

7F AupELEoZH 5 12,000 12,000

1) 4x¢ 620-03 |12,000,000€1 x1€= 12,000 12,000

U Aus a2y 48,000 48,000

1) 2538w 620-03 |12,000,0009 X 41= 48,000 48,000

3249 21,888 2,061,601 2,059,713

7)1 =F A8 AL A1,888 2,061,601 2,059,713

1. TAo| &2 234 1,247 1,783,587 1,784,834

7} 1=t 1,247 1,783,587 1,784,834

1) 29 620-03 |2,90091 X598 x 185U = ~10,324 331,151 320,827

2) AHH 620-10 [2,90090%2,657% x 190U = 11,571 1,452,436 1,464,007

2. A AEAEA L 680 154,032 154,712

7F A9 620-03 |10091 X286 x 180 = A36 5,184 5,148

U x5y 620-03 |100€1x2,158™ x 190U = AT6 41,080 41,004

o} F8w 2,100 42,856 44,956

1) 29 620—03 1309 %8594 x190YU= AT41 21,959 21,218

2) AHY 620—10 1309 %961 x190YU= 2,841 20,897 23,738

& 15skw A1,308 64,912 63,604

1) 39 620—03 1309 %6329 x190YU= A97 15,709 15,612

2) A 620—-10 |130€¥% 1,943 x190Y= A1,211 49,203 47,992

3. A ARA Y 23,815 123,982 120,167

7F 84X 620—03 539 x286™ x180U= A128 2,856 2,728

L 25t 620—03 61€9x2,158% x190Y= A851 25,862 25,011

o} Z8w 334 36,320 36,654

1) 29 620—-03 |106x859™ x 190U = 21,310 18,610 17,300

2) A+ 620—10 1069 %9617 x190YU= 1,644 17,710 19,354

g}, 1538y A3,170 58,944 55,774

1) 39 620-03 |1149x632% X190 = A576 14,265 13,689

2) AH 620—-10 |114€1x1,9439 %1904 = 72,594 44,679 42,085

N/ASES 36,372 238,704 275,076

27 36,372 212,199 248,571

St g BN 36,372 180,925 217,297

g - RA/FA/AFEE - FAve - SaF AN 4/6




7187 AR E 1S4 9% (cFe] : 19
wolmg 33 | @9 [ A el = Bl 1A% | 20159 714 | 20154 A&
Abel A} A (B) o 2k (A) o AH(A+B)

1. s FA 7| FUA &= 36,372 180,925 217,297

7F =g A 7] TR A 33,372 101,604 134,976

1) 258w (51) 620-04 |83,432,0009= 24,872 58,560 83,432

2) 15w 8,500 43,044 51,544

7H AH (21) 620—10 |44,094,0009 = 8,500 35,594 44,094

U, 2] A A 820 3,000 6,000 9,000

1) 4% 620-04 |3,000,00091= 3,000 3,000

g A A A DA 93,875 14,804,936 14,898,811

Bty 2-gdu|A Y 15,252 7,803,501 7,818,753

gaeguAY 15,252 7,803,501 7,818,753

1. 87| 8-2-FH| A17,448 7,759,301 7,741,853

VAR ) 620-02 |860,036,0009= A1,260 861,296 860,036

U, 258w 620-02 |4,901,556,00091= A9,797 4,911,353 4,901,556

o}, =& 620-02 |1,980,261,0009= A6,391 1,986,652 1,980,261

2. S 7 el gu| A Y 32,700 44,200 76,900

7F =9 6,700 22,800 29,500

1) T9x% 620—-04 |29,500,0009= 6,700 22,800 29,500

(B [ YAREe B | 26,000 10,500 36,500

1) =5stu(21) 620—04 [16,085,0009= 8,000 8,085 16,085

2) =g (21) 620—04 120,415,000 = 18,000 2,415 20,415

AFsHA A = Y 78,623 7,001,435 7,080,058

L-GH| AR ATFA Y 78,623 1,200,850 1,279,473

AR AT R F 78,623 1,200,850 1,279,473

7}, e 7] B2 H| 620—-09 |1,279,473,00091= 78,623 1,200,850 1,279,473

St WS AN HA A 215,893 3,719,505 3,935,398

IS A ML 215,893 3,644,027 3,859,920

S A A ST AMA 215,893 3,644,027 3,859,920

1. A A 215,893 1,842,298 2,058,191

7} A A 215,893 215,893

1) Asl= 215,893 215,893

7H A1) 420-03 |71,450,000¢ x 34 = 214,350 214,350

h A Hin) 420-05 |214,350,0009 X0.72%= 1,543 1,543

o
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i

AN — BEBAAAAAL - A A& A
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R

nE ?};3 ﬂfg RERE g . q=7 e | 20159 /14 | 20164 A%

(B) of| A+ (A) A2 (A+B)
By - 6,000 78,650 84,650
6,000 78,650 84,650
SAEI}AE 6,000 56,800 62,800
EMBEIAL 6,000 56,800 62,800
1. 3FEABEANGES 6,000 14,000 20,000
7F =AY 430-01 |10,0009 x 2,0007 = 6,000 14,000 20,000
THARE 37,980 1,751,344 1,789,324
71 B & 37,980 520,144 558,124
SYZ71BAA 37,980 142,768 180,748
DA AP A E & 37,980 142,768 180,748
1. SR AHAA 37,980 142,768 180,748
7F 1T E3 e 37,980 37,980
1) WA AR 420-03 16,330,000¢ X 6%= 37,980 37,980

& - s +9HY - nSYYT DAL - ZHFA DA% 6/6




